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(10 pts) 8) Find the slope of the tangent to the curve defined by z +siny = zy at the point (0, 0)
on the curve.
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(10 pts) 9 The half life of Polonium 210 is 140 days. How many days will it take for a sample to
decay to 5% of its original value. Since you are not allowed to use a calculator, give

your answer in the form indicated.
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(10 pts) 10) A 13 ft. ladder is leaning against a house when its base starts to slide away. When
the base is 12 ft. from the house, the base is moving at the rate of 5 ft./sec. How fast
is the top of the ladder sliding down the wall then?
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(10 pts) 11) Find the linearization of f(z) = ¥z at £ = 27. Use your linearization to approximate
¥/26. Leave your answer in the form of an improper fraction.
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